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Answers

1. The boxes should be ticked as follows:
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Two marks awarded for all four rows correct.

One mark awarded for 3 out of 4.

No marks for 2 or less correct.

Other clear indications of the answer, such as a cross or Y will also gain the mark.
Suggested method:

The key to answering this question is to remember that a calculator is available and to take each pair of
questions separately.

Children should be able to use the keys properly. They should know how to clear the calculator, how to enter
numbers and operations and how to read the results. Interpreting the results is also important and it is
essential to look at the answer to check that it is sensible — within a range of what is expected.

For example 34 x 21 is going to be around 600 or 700.

With these questions it is a good idea to jot down each of the two answers and then compare them. It is
essential that the calculator is cleared after each calculation.

Why not visit ks2-maths-sats.co.uk for free SATs papers and a great SAT revision

programme?
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